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10 The correct meaning of the proverbidiom - To hit the nail right on the head' g
A} To do the right thing
8)  To destroy one's repulation
C)  Toannounce one's fixed views
0} To teach someone a lesson

11 You are nol for this kind of job
Al cutin
B cutup
C)  cut through
Dl cutout

12, One who possesses many talents

Al Versallle

B} Nubile

C)  Exceplional
DI  Gitted

13, The study of ancient socielies s called
Al Anthropology

B)  Archaeciogy
C)  History
D}  Ethnology
4. Lis! of the business or subjects 1o be considered al a meeling
A} Schedule
B) Timetable
C) Agenda
D) Plan

15 Change the Speech of - “Please don'l go away”, she said,
A} She said 10 piease her and nol ga away.
B}  She told me 1o Qo away
C)  She begged me nol 1o go away,

D) She begged that | not 0o away

16.  Delect the comman error in the Iallowing sentence:
Supposing if / It rains / what shall / we do?

A} Suppose il
B} i rains
C}  whal shall
D}  wedog?

17. Our lask had been completed before sunsel {Change the Voice)
A)  We compleled our 1ask belore sunsel
B)  We have completed our lask belore sunset.
C)  We complele our task belore sunsel
D) We had completed our task before sunset

18, More insurers are limiting the sale of property Insurance In coastal areas and other

regions nalural disasters.
A)  salefrom

B)  according to

C) despile

D) pronelo
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SET A

There ls nosubstitute  hard work
Al al T

B) over

C) for

D o

Sincerily is greal virtua. Here sincerty is
A]  Comman noun -

B)  Abstract noun

C) Proper noun

D) Collective noun

Open your book page flity.

A)  al

B) by

C) on

D) in

Choose the antonym lo the word ‘Lucid’
A)  Evident

B) Obwvious

C) Vague

D)  Explicit

Choose the synonym 1o Ihe word Wary'.
A) Sad

By Tired

C] Vigilant

D) Distorled

Which ane Is the comeclly spell word?
A)  Accoomodale

B) Accommodale

C) Accomodale

D} Acommodate

Clath: Mill :: Newspaper:

A}  Press
B) Edilor

C) Reader

D) Paper

A mirror always

A)  Distorts

B) Retracls

C) Ralracls

D) Refiecls

Which of the lollowing is found In ‘Bravery'?
A)  Knowledge

B} Courage

C) Power

D) Experis
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30.

31

32.

. 33

35

The last Mughal emperor was

Al Aurangzeb

Bl  Akbar

C! Babar

D) Bahadur Shah

Who is known as the Napoleon of India?
A)  Arya Gupla

Bl Samudra Gupla

C) Kanda Gupla

01 Ashoka

Who was the lirst woman President of Indian National GO

A)  Kamala Nadu
B)  Sarojini Naidu
C!  Annle Besant
0} Indira Gandhi

In which State has Aimond as its State Tree?
A)  Arunachal Pradesh

B Goa

C) Himachal Pradesh

Dl Jammu & Kashmir

What is the acid present in Lemon?
A)  Oxalic Acid

B) Ciric Acid

C) Gluconic Acid

D) Taranc Acid

Which is the Donor Blood Group?

A A
B B
C) AB
oy 0O

In which State the Elephant Falls localed?
A)  Andhra Pradesh

B) Odisha
C) Meghalaya
[ Karnataka

The Song Vande Mataram was composed by

A} Rabindra Nath Tagore
B)  Bankimchandra Chatterji

C)  Satyajil Ray
0y Shyam Sundar Das

Indian Army was eslablished in _

Al 1895
B} 1814
C) 1945
D) 1947
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19, Improve the loliowing sentence by replacing the undarined pan
1, | would have been able to read lor o while belore bed

Hime
A)  Had ihe room been brighter
Bi I the room are brighter

C) M the room was brighler

D) Had Iha brighter room

20 h has been estabkshed that
P Einslein was
Q  although a greal scientisi
R : weak in arithmetic
S - right Irom his school days
I:ll Pis'n;;rﬂlmrﬂ of ordering of words should be:
B) QPRS
C) QPSR
D) RAOPS
£l ITE 'ﬁ;ﬁ?ﬂﬂ;’;ﬁﬂtbﬂ' announced by governmentof Indiawasin
B) December 2016
C} November 2017
D) December 2017
22 Which is the cldest mountain range in India?
A)  Satpura Range
B) Aravall Hange
C) Vindhya Range
D) Pir Panjal Range
23, Which is the Capital of the Union Tarritory of Dadra Nagar Havel?
A)  Panal
B) Dispur
C) Port Blair
D) Silvassa
24  Who gave the call for Evergreen Revolution?
A)  Sarder Patel
B) Verghese Kunen
C) M.S.Swaminathan
D) Man Mohan Singh
25 The place ol India receiving the lowes! rainfall is
A)  Jaipur
B) Leh
C) Srinagar
D) Kolkala
25 Whare is the National Stock Exchange located?
A} New Delhi
B) Hyderabad
C) Chennai
D) Mumbai
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I 1o freedom
“ﬂ“: :mummmmmﬂ.um
g) Free prolession
C)  Practice and propagation of religion
D)  All ol the above r

Red data book contains data ol
A)  all plant species
B) all animal species

C) economically important species
D) threatened species

Lﬁ'&““““"“"‘“mwm printed lext or other images inlo digital

A}  Keyboard
B) Plotter

C) Scanner
D) OMAR

15th September is calebrated imernationally as
A)  International Democracy Day

B) International Teachers Day

C) World Cancer Day

D) Work Book Day

Monetary Policy as an arm of the economic policy is adminisiered by
Al  Govaermment of Indla

B) Reserve Bank of India
C) State Bank of India
D) Governments ol the respective slales

“One People, One State, One leader™ was Ihe policy of

A}  Hitler
B) Lenin
C) Mussolin
0)  Stahn

india announced the successtul conduct of anli-satelile missile lesl, called “Mission
Shakli” on

A} March 27, 2018

B} March 27,2019

C) January 27, 2018

D) January 27, 2018

Four words are given, oul of which three are same in a certain way while the rest one
is different. Find out the differani one.

A) Teacher
B) Prncipal
C)  student

D) Lecturer
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51,

53

The Mid Day Meai Schema was launched on

Al August 15 2015
B)  August 15 2005
Cl August 15 1505
D) August 15, 188s
In Inhia the jerm Black Revolution' is associaled with
;tl Sell-dependence in the produetion of coal

) Nurturing the Black Sail I
C)  Sell-dependence in the production of petroleum crude of
D) Seli-dependence in the production of black corp

balance sheel?

Which of the following items would not appear in a company's

Al Value of siocks ol raw materials held
ital

Bl Toal issued capita
C)  Revenue from sales ol the company's producls

D.:l cﬂﬂh hﬂﬁj at the bark
with
Indlan privale company lo sign an accord wit

Which ol the following (s the first iy
Gavernmen of Myanmar for oil exploralion in two offshore blocks in that country
Reliance Energy

B)  Essaroi
Cl GalL
D) oONGe

The ‘Dronacharya Award is given 107

A Sponsmen

B) Coaches

C) Umpires

D) Sports Editors

of the person that controls a football match?

What is the name

Al Areleree
B) An umpire
C) A speciator

D) A goalkeeper

Whao was the first Indian 1o win an individual medal in Olympies?

Al Milkha Singh
B) PT Usha
C) Karnam Malieshwar

D) K.D Jadhav

Wha is the author of the book - Changing Indig’?

Al A Narendra Modi
B} Rahul Gandhi

€} Manmohan Singh
D) Arun Jaitley

Article 359 of the Constitution authorizes the presiden of Indi

move any court for the enforcement of Fundamental Higm;r:‘u::: suspend the fight to
Al A nalional emergency -

Bl Atfailure of constitutional machinery in Stales
C)  Afinancial emergency.

D) None of Above.
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39

40.

41

42.

43

which ol the Tollowing country has & border with !
Al Alghaniatan SO P o

g Myanmar
Cr S0 Lanka
D) Bhatan

Which is the lollowing Indian Paninsular Fiver known as Dakshin Ganga 7
Al Brahmani

81 Cauvery

C)  Godavari

[ Knshng

Elactnc bulb filamoni is made of
Al Coppor

Bl  Alummnum

C) Lead

D) Tungsten

Which of the following Is used in pencils?
A)  Graphite

B) Sikcon

C) Charcoal

0) Phosphorous

Which of the foliowing planel has the laslesi period ol revolution?
A}  Earth

B) Mars

C) Mercury

D) Plle

The hardest substance available on earth Is
A}  Gold

B) lron

C) Diamond

D) Platinum

Light yearisaunitof __ _ _ _ -
A)  Time

B) Distance

c) Lght

D) Intensily of light

Rainbow is due (o

A} absorption of sunlight in minute waler droplets
Ei diffusion of sunlight through water droplets

) ionisation of water deposils
D; refraction and reflection of sunlight by water droplets

Open markel operation is a part of:
A} Credil Policy

B)  Debil Policy

C) Deposil Policy

D)  Foreign Policy
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74.

76.

directions are changed in thy and South becomes Norh Easi and all the res!
A}  North-East same manner, then whal will be the deection lor Wes!?

B) North-West
C)  South-East
D) South-West

Inarow ol ir
there in the r::“—* atree is 7 from leh end and 14" from right end How many e are

A 19
B 20
c) 2
Dy 22

ours 1o conduct
director  The
liwed for

;E: :“h:;rﬂ;:n entered in the Assembly Hall at 10 min. before 12.30 h
o The chairman was 20 min_earller than the managing
'_“'"!ﬂ'"'.'l? rector was 30 min_ lale as per the lime lixed What was the time

A)  12:10
B) 12:20
C) 1230
D) 12:4D

i "' stands for ‘addition’, ‘<" for ‘subtraclion’, '+ for division’. '>" 1of ‘mulliplication’ =
for ‘equal o', —' for ‘greater ihan'.and ‘= for ‘less than’, then state which of the
following is true?

Al 3x45>2-9+9<3

Bl 5x3<7:B+4x1

C) 5>2+2=10<4x8

D) 3x2<4:16>2+4

Solve the following question and choase the correct altemative from the following

1.2 3,4, and 5 are sitling in row but not necessarily in thal order. All of them are
Norih. 3 is immediate right 10 Sand 4 18

sitling in @ row with their backs loward !
immediale left 1o 1. Only 2 is between 1 and 5. Which of the following are at the
exireme ends?

A) 3,4

B) 25

c) 2.1

D) 4, 2
Find the missing number in the sequence. 4, 10, 28, 7, 244, 730

A) 24

B) 77

c) 82

D) 98

Whal will be the difference between the sum of the odd digils and the sum ol the even

digits in the number 8574237

A) 0
B 1
c) 2
D) 3

1
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is different Find out the differont one

Al Sguare
B)  Trangio
C)  Area
D} Rectangle
63 Thermometer Temperature ~ Glucomeler 7
Al Body sugar
B)  Body resistance
C) Blood

D) Biood sugar
are jewels Some jewels Are  Omamenys

64 EHEEEIJ_II; ST pearis
| S'E:'F‘IE jewels are pearis. Il Some ormamenis are jewels.

Al Both I and Il follows.
B}  Neither | nor If follows.
Cl  Only Conclusion | foliows.
B)  Only Conclusion | foliows.
i husband's age
if you reverse my own ape, the figures reprasent my ag
senior lo me and the difference between our ages is one-eleventh g

65. A WoIman says.
He is, of course,

their sum.” The woman's age is
Al 23 Years
B) 32 years
C) 45 years
D) 54 years
66.  Which one is differant from other threa?
Al ZTyxw
B) MNOP
C) HGFE
D) DcBa
67. I HAFI'D;E coded as 1357 and SOFT is coded as 2468 whal do the figures 21448
Stand for
Al SHOOP
B) SHOOL
C) scooL
D) SHOOT
68. (1/4):(1/8) - (2/3): ?
A 14
B) 13
cl 12
D) 27
69.  Counlry : President - State - 7
A)  Chief Minister
B)  Prime Minister
C)  Speaker
D} Governor
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A}  Yogesh
B) Hans
C) Shyam
D)  Shiris

The criminal justice system needs 1o change. The system could be more just il 1
allowed victims the opportunity 1o conlront the person who has harmed them. Also,
medialion between viclims and their oflenders would give the offenders a chance 1o
apologize for the harm lhey have done.

This paragraph bes! supports the statement thal victims of a crime should

A) leam to forgive ther offenders

B)  have the right to confront their offenders

C) insist that their olenders be punished

D) have the right lo impose a sentence on their oifenders

A few states in this couniry are considering legisiation that would prohibit schools from
using caiculators before the sixth grade. Other states take a different position. Some
states are insisting on the purchase ol graphing calculators for every student in middie
school

This paragraph bes! supports the stalement thal In this country

A)  there are at leas! two opinions abaul Ihe use of calculalors in schools

B) stale legisiators are more involved in education than ever before

C)  the price of graphing calculators is less when schools BUy in bulk

D)  the argument against calculalors in schools is unfounded

In the pas!, consumers would rarely walk into an ice cream Store and ordér low-fal ice

cream. Bul that isnl the case foday. An increasing health consciousness combined

with a much tigger selection of tasty low-fal loods in all categones has made low-fat

ice cream a very profitable ilem for ice cream slore owners

This paragraph best supports the statement thal

A)  low-fat ice cream produces more revenyue than other low-1al foods

B) ice cream slore owners would be belter off carrying only low-Tal ice cream

C) ice cream slore owners no longer think thal low-lalice cream is an unpopular
item

D) low-1al ice cream is mara popular than other kinds of ice cream

A train covers a distance ol 12 kms in 10 minutes. If # takes 6 seconds 1o pass a
lelegraph post, then the length of train is.

Al 140 m
B 120m
C) 100m
D) 200m

A studen! divided a number by 1/4 when he is required to multiply i by 4. Calculate the
percentage of error in his resull.

Al 0%
B) 100%
Cl  25%
D) 50%

B-04/SET A 12
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#mlﬂw TFDTI'IIMIIH'I!I'III'I‘JIH;:A mmple interes! tale, Aher 3 years

g3 . had lo pay Rs 5400 |
jm Was: the poriod The
1;’ As 15000 Pmﬂmnumhurrmldbv
B Rs 10000
C) Rs 20000
D) As 5000

pivide 0.81 by 0.09 is equal 1o

A 09
B) 009
c) 0.009
Dy 9
a
e :hmi:m highest common tactor of 36 and 847
By 6
) 5=l
D) 18
= ::;::E? of two numbers is 34 and their HCF is 4 What Is LOM of Ines® two
A) 12
B 24
c) ¥
D) 48
gr. MNa’= h¥, then: 1.!.
A) logab=x . Y
B) logba~- ‘.n'f: & M
C) loga/logb =Xy < B o
D) logaiog b = yix I “u =
Vi

rn;austhummadtﬁback =

!

gs. Ram sells a commeodity 1o Rahim at a profil of 10%. Rah
1o Ram al a loss of 10%. In this Iransaction:
A) Ram neither lossés not gans
B) FRam makesa peofil ol 11%
¢) Rammakesa profit of 20%
D) Rahim loses 20%

ga. An error 2% in excess is made while measuring the side ol a square. The percentage
of arrar in the calculated area of the squarg is:

a) 2%
B 202%
C) 4%
D) 4.04%
gp. How many lerms are there in 20, 25 30 ....coms 140.
Ay 22
By 25 ) o
C) 23 ; hx'l—.r = "
l“ { u ¥ -
D) 24 > L J..r e
i *_J""':_ \L"L. S
~ o . 5
, T -
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ihmwmh The marke! value of the stock 15

Al As 48

Bl RAs 75

C)  Rs 96

D} Rs 100

3 ane third of ane-fourth of a number is 15 then three tenth of that number is:
Al 35

B 36

€ 45

0} 54

"A"':"Hl s éhﬂ Probability of getting a sum-8 fram two ihrows of a dice?
)

B 18
C 19
Dy 112

The salaries A, B, C are in the Faho 2 -3 °S. |l the increments of 15%, 10% and 20%
dre alloweag respect

Al 3:3 10 ely in their salaries. then what will be new ratio of their salaries?

Bl 10:.11:99
€ 23:33 g
DY 131430

Al Arithmetic Mear
B) Weightad Mean
C)

Mean
D} Harmonic Mean

A worker completes 58 ol ajob in 10 days. Al

takes him 1o finish the iob? this rale, how many more days will it

Al 8
B 7
Ch @8
D) 9

e are two examinations rooms A and B. 110 students are sont from & 1o & o
the numBer & et vt o -
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ihe following relationship is comec ?
MAE:I.EG'M'EH'M
# A H'M.I'G-M-EA'M
gl 'M.;-__A.M..‘:H.M
€l amzHM2GM
o
arns a profit of 12% on
pkeeper e solling o book ol 10%
00 ':m;g- “Tha ratio of the cost price and the pricted phice of the I!m':*:{ﬂlm o i, peries
B4
8) 4551
c) 47:56
D) 47:51
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